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STATISTICS
(Honours Generic/Regular)
(Applied Statistics)
Paper : STA-HG-4016/STA-RC-4016
Full Marks : 60
Time : Three hours
The figures in the margin indicate
Jull marks for the questions.
Answer either in English or in Assamese.
1. Answer the following questions as directed :
1x7=7
ot SrpiR weTe A empTRe Ted o
(a) Fisher’s ideal index number is the
geometric mean of Laspeyre’s and
~ Paache’s index number.
(State True or False)
5T S oIS TR FTRCARI S AT
PIR QIS NG | (7 (7 99% fer)

(b) With which component of time series ‘a
strike in a factory’ is associated ?

PIERTE (FIFCE! THXE (TS 9o FITANS
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(c) Name the control charts which are used () D eﬁn e crude death rate. Why is it called

for attributes. a probability rate ?
QI R JRZR 1 el Ao i | i g 2T el i | B 6 Ao
(d) State the laws of demand and supply. AR ?
pifnt SR (RisliA R S =1 (c) Define time series. State the
) C ce ind b ol mathematical form of it.
e onsumer price index number is also sffss
known as —____ index number. T e frat (280 Al
(Fill in the blank) (d) Distinguish between assignable causes
AT S T et fre and chance causes in S.Q.C.
I (0T} 312 st ) RBACTI] PI S R PR TS 24T
() State two sources of vital statistics. akal
AR ©UR 751 T TrEd 4 | 3. Answer any three questions from the
(g) Process control is achieved through the following : 5x3=15
technique of — . (Fillin the blanks) wete famt Rt fofor e W foran ¢
oifira et e (a) Explain time reversal test and factor
T RAET —— —— “Taled ql ARG 1 reversal test of index number.
T (T S1Z317 239 3)
IEIRE T TG % TN TGl AT
2. Answer the following questions : 2x4=8 90 3] |
wore faa eI T fumt ¢ (b) What are different components of a time
(a) What do you mean by demand and series ? Explain any one of them.z.l‘:?’=5
supply of a commodity ?
PPy odity P T Ron BN f R ¢ A 4
<51 <9 51 W= AN 3T gt 2 Raw rn =41
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Define equilibrium price. The demand
curve and the supply curve of a
commodity are given by D =19-3p - p?
and S=5p-1. Find the equilibrium
price and the quantity exchanged.
142+2=5
IR TR TR R | G5t i 5ifRal I =

GRS I YOI (2% FW D=19-3p- p?
R S =5p -1 | SR T AP WERS 29
o131 +if<e [efa 0|

Name different types of fertility rates. In

what sense age-specific fertility rate is

better than general fertility rate ?
2+3=5

ﬁ%ﬁ%@wmmﬁmm«qw
Wwﬁﬁ%%@@mﬁw W 2

A plant produces rolls of paper. The
number of defects disclosed by
inspection of 20 rolls are given below :

13, 3, 8,11, 5,17, 3, 4,6, 11,
13, 7, 10, 20, 9, 11, 8, 12, 9, 20

Using an appropriate control chart,
comment on the state of control of the
product.
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I <1 ARSI FoiER (5ifF Teolm I | 9=

2001 (53 AT AR SPTRNT AZS
S5t (TS (ARt FHI TRYt were faal Tei

18, 3, 8,11, 5, 17, 3, 4, 6, 11,
13,7, 10, 20,9, 11, 8, 12,9, 20

@Bt Boge Mfoay APTS Tesiv AfFmet
e sge 99t 999R [ Toms wife
ol

Answer either 4(a) or4(b):
4(a) It 4(b) I TR o7l ¢

(@)

(b)

Write a note on net reproduction rate.
Show that GRR>NRR. Explain what are
meant by NRR<,=,>1. 4+3+3=10

S ATww P9 89T ¢t ORel Foral | oy
@ GRR>NRR, NRR<,=,>1 IFF@ @R
I 3|

Define index number. Describe simple
aggregate and weighted aggregate
methods of construction of index
number. Mention the formulae obtained
by using different types of weight. State
two limitations of index number. 10
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IS A AN | I 157 e s OifRe 6. Answer either6(a) or6(b): .
?Ewﬂiﬁ;avﬁtw ;:ﬁf?wwafﬁ 6(a) I 6(b) T TSI o1l 3
ﬁl‘lﬁ‘m‘@l] @'C;;NW | PR @T ’ (a) Write notes on the following: 5x2=10
o T TAIIRE 8T (Il ol 3
S. Answer either S(a) or 5(b): (i) Engel’s law and Engel’s curve

5(a) 3 5(b) I TeR fordt ¢ LSS T SIS SR IF

(a) What are different methods of measuring (i) Determination of elasticity of
trend ? Explain how the least square demand by family budget method
method is used in determining straight SARATE T AR 211 bif gl
line trend. Discuss the merits and Refam
demerits of this method. 2+4+4=10 | (b) Discuss various problems involved in the
ererol Ref eI Rt siafomz & & 2 7w | construction of index numbers. 10
e azeret ReT 77 I g Frew 3o AT AFOTIIe T (Tl [fen mepemg
oS TR 9 W Y1 I | 9% 17T (ig- S 4 |
QT SCAB F| '

(b) Whatis control chart ? When is a process
said to be under statistical control ?

Explain X and R charts in detail.
1+1+8=10

e wefoa & ¢ E‘éwm ferm @61 @fon
ARARRIFI RTEee <491 3 @i ey 2 X o
R #foa g 11| |
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